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Question Number : 26 Question Id : 21280718686 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



ST SIS o! H 2o (il SR Fifewcel Tt 27 | erorw 1ol 5 e
%, S

(

(B) ol %
(C) =, 2
(D) w1, Sif®
(E) o, o

—

e Rz #[ ws Tearn! e Tleea ¢
1) (A)

(2) (D)

(3) (C) == (
(4) (B)
Options :
21280774741. 1
21280774742. 2

21280774743. 3
21280774744. 4

Question Number : 26 Question Id : 21280718686 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
ST ST Yol B ge (sl SR Fifewsl 1 = | 2rors 1ol 6 [ e
%, ST

(

(B) ol %
(C) =i, 3
(D) =1, SIf®
(E) e, %

("‘\

e Resrnzs 791 wa Tean! iz o
1) (A)
(2) (D)

(3) (C) == (
(4) (B)
Options :
21280774741, 1
21280774742. 2

21280774743. 3
21280774744. 4

o0

Question Number : 27 Question Id : 21280718687 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Sifer - 11 9 =5ie sifet -1 e ¢

oifert - I Siferet - I
(A) Toreat =2 O FerAz=
(B) % EN (oM @RIHHE (1) W, (9¢ P e
(©) #AfFiRel w1 AT ety i (I) & 573 2rew IoH
(D) Tz sz (IV) FR el @

fehie RsrPrEs 9 v e ik Uered ¢

(1) (A, (B)-(I0), (O)-(IV), (D)-[0)
(2)  (A)-(D), (B)-(IV), (O)-(D), (D)-(I)
(3) (A, (B)-IV), (O)-(I), (D)-(I)
(4)  (A)-(), B)-(1), (C)-(ID), (D)}-(IV)
Options :

21280774745. 1
21280774746. 2
21280774747. 3
21280774748. 4

Question Number : 27 Question Id : 21280718687 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Sifer - 11 9 =5ie sifet -1 e ¢

oifert - I Siferet - I
(A) Toreat =2 O FerAz=
(B) % EN (oM @RIHHE (1) W, (9¢ P e
(©) #AfFiRel w1 AT ety i (I) & 573 2rew IoH
(D) Tz sz (IV) FR el @

fehie RsrPrEs 9 v e ik Uered ¢

(1) (A, (B)-(I0), (O)-(IV), (D)-[0)
(2)  (A)-(D), (B)-(IV), (O)-(D), (D)-(I)
(3) (A, (B)-IV), (O)-(I), (D)-(I)
(4)  (A)-D), (B)-(I), (O-(II), (D)-(IV)
Options :

21280774745. 1
21280774746. 2
21280774747. 3
21280774748. 4

Question Number : 28 Question Id : 21280718688 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



STE S TS 26+ FACE {6 *= (el 91 77 |
(A) e
B) %9
Q) TR
D) W
E) Wl
fsfiie Rmsrnes «[ wa Teac! Az Theat ¢
(1) (D)

(
(
(
(

(2) (©
(3) (B) < (E)
(4) (A

Options :

21280774749. 1
21280774750. 2
21280774751. 3
21280774752. 4

Question Number : 28 Question Id : 21280718688 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

T S WL 25 SEa [ =9 @l 391 79 |

(A) T
(B) =©
©) o
(D) =¥
(E) 7=l

sl Resrnes “9 wa Tean! iz Thet ¢
(1) (D)

2) (©

(3) (B) ®< (E)

4) (A

Options :

21280774749. 1

21280774750. 2

21280774751. 3
21280774752. 4

Question Number : 29 Question Id : 21280718689 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



wifer! - 119 #1570 ifert - 1 S ¢ (I35 earRt =+ [aE)

Siferst - 1 Sifert - 11
(A) s O A
(B) CeTl ()
(C) =AW= (L) et
(D) < (V) @i

("‘\

fsferie e 4 e '\b\e-sa, i f

o0

(1) (A, (B)-(II), (O)-(1), (D)-(IV)
(2) (A0, (B)-1), (€ )(IH) (D)-(1V)
(3) (A)-1I), (B)-(1), (O-(1I), (D)-(IV)
(4)  (A)-(1), (B)-(1), (©)-(IV), (D)-ID)
Options :

21280774753. 1
21280774754.2
21280774755. 3
21280774756. 4

Question Number : 29 Question Id : 21280718689 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

wifer! - 119 #1570 ifert - 1 S ¢ (I35 earRt =+ [aE)

Sife - 1 Sifew! - 11

(A) oo I

(B) ceEl (If) =11

(Q) wZ (ITT) ST

(D) = (Iv) wir<
ﬁﬁ%ﬂ—rﬁ@ﬂwwwﬁeww iz Tferea ¢
(1) (A)-(1I), (B)-(IL), ©)-(1), (D)-(1V)

(2)  (A)-D), (B)}-(II), (C )(HI) (D)-(1V)

(3) (A)-(ID), (B)-(I), (O)-(1I), (D)-(1V)

(4) (A1), (B)-(D), (C)-(IV), (D)-(II)
Options :

21280774753. 1
21280774754.2
21280774755. 3
21280774756. 4

Question Number : 30 Question Id : 21280718690 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



w7 Teq 9% Tleed — SIeEm

(A) I + AW
(B) I + AW
(C) I ¢ +Am
(D) ST+ 3
(E) wnif¥ig +am

F

et Resrmes J1 wa Tearn! e Tieed ¢
(1) (B)

(2) (A

@) (©

(4) (D) == (E)
Options :

21280774757. 1
21280774758.2
21280774759. 3
21280774760. 4

Question Number : 30 Question Id : 21280718690 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
7 Teq qifg Sfaveat — SR
(A) I+ AW
(B) I + AW
(C) I ¢ +Am
(D) P + M
(E) wnif¥ig +am
fawfeiie Reaes «at wa Tears! A Tfe
(1) (B)

(2) (A

@) (©

(4) (D) == (E)
Options :

21280774757. 1
21280774758.2
21280774759. 3
21280774760. 4

Question Number : 31 Question Id : 21280718691 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



o7 Tes qif Sfenedl - e

(A) W+ZW
(B) I+ 29
(C) =2 +29
(D) "+
(E) T +91=9

F

et Resrmes J1 wa Tearn! e Tieed ¢
(1) (B)

(2) (©)

@) (D)

(4) () S (A)
Options :

21280774761. 1
21280774762. 2
21280774763. 3
21280774764. 4

Question Number : 31 Question Id : 21280718691 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

o7 Tes qif Sfenedl - e

(A) W+ZW
(B) I+ 29
(C) =2+
(D) ¥+
(E) T +91=9

F

et Resrmes J1 wa Tearn! e Tieed ¢
(1) (B)

(2) (©)

@) (D)

(4) () S (A)
Options :

21280774761. 1
21280774762. 2
21280774763. 3
21280774764. 4

Question Number : 32 Question Id : 21280718692 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Sifer! - 11 9 =19ie sifeet -1 e ¢

oifert - I oiferet - 11
(A) = ) @ [y
(B) fufao 1) TFERcE Rey
(C) wat (IT) el Koy
(D) IR (IV) I3 Ry
fasferie Rz = W'e\eqa’ 3z Terea
(1) (A)-(IV), (B)-(III), (O)-(II), (D)-(I)
(2)  (A)-(D), (B)-(ID), (C )(IH) ( )-(IV)
(3)  (A)-(1V), (B)~(I), (O)-I), (D)-(I)
(4)  (A)-1V), (B)-(D), (O), (D)-(I)
Options :

21280774765. 1
21280774766. 2
21280774767. 3
21280774768. 4

Question Number : 32 Question Id : 21280718692 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Sifer! - 11 9 =19ie sifeet -1 e ¢

oifert - I oiferet - 11
(A) = ) @ [y
(B) fufao 1) TFERcE Rey
(C) wat (IT) el Koy
(D) IR (IV) I3 Ry
fasferie Rz = W'e\eqa’ 3z Terea
(1) (A)-(IV), (B)-(III), (O)-(II), (D)-(I)
(2)  (A)-(D), (B)-(ID), (C )(IH) ( )-(IV)
(3)  (A)-(1V), (B)~(I), (O)-I), (D)-(I)
(4)  (A)-1V), (B)-(D), (O), (D)-(I)
Options :

21280774765. 1
21280774766. 2
21280774767. 3
21280774768. 4

Question Number : 33 Question Id : 21280718693 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



OE (I YOI *19 R Reeael oW =7 ¢

(A) = 7
(B) =¥

(C) =[x AR
(D) I

(E) Rrsi#m

—

e Rz J< wa Tean! e Tieea ¢
(1) &= (A) =I1F (D)

(2) <1 (A) 9= (O)
(3) @@ (B) i (C)
(4) (T (D) 9= (A)
Options :

21280774769. 1
21280774770. 2
21280774771. 3
21280774772. 4

Question Number : 33 Question Id : 21280718693 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

TEH (I MO! *1% R Rl «m = ¢

(A) wIfe 77
(B) W

(C) = +if7g
(D) TS

(E) Resiom

ke T 74 em Tears! Mk Tened ¢

(1) e (A) I (D)
(2) @ (A) T (O
(3) I (B) W (C)
(4) T (D) W (A)
Options :

21280774769. 1
21280774770. 2
21280774771. 3
21280774772. 4

Question Number : 34 Question Id : 21280718694 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



T2 OIET ol SGIRE - IRMGE i 5l TG (e e 2
(A) e

(

(C) “An=t Tt

(

(E) w=wsi<s e

i Resrnes 79 ws Tean! ifz Thet ¢
1) (A)

(2) (D)

@) (©

(4) (B) == (E)
Options :

21280774773. 1
21280774774.2
21280774775. 3
21280774776. 4

Question Number : 34 Question Id : 21280718694 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

T2 ©izs Foisl 212 - AR b el [T (i oipiaa 2
(A) e

(B) SrrifeR =

(C) “An=t Tt

(D) WS

(E) oresics fman

fawferiie Reees 4t wa Team! iz Tferea ¢
1) (A)

(2) (D)

@) (©

(4) (B) == (E)
Options :

21280774773. 1
21280774774.2
21280774775. 3
21280774776. 4

Question Number : 35 Question Id : 21280718695 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Sifer! - 11 9 =19ie sifeet -1 FerE ¢

oifert - I oiferet - 11
(A) RCT ITT© FI 77 () R
(B) Rica N1 S (m ==
Q) famzE () &
(D) s & feazom @bt o smasa . (v) e

fawfafe ﬁ@‘ﬂ%}’ﬂ A W TG Az Thea ¢

(1) (A)-IV), (B)-(1D), (C)-(II), (D)-[0)
(2) (A)(I)()(I)()()()(HI)
(3)  (A)-1V), (B)-(1D), (O)-L), (D)-(0)
(4)  (A)-(1), (B)-(1D), (O-(I1D), (D)-(IV)
Options :

21280774777. 1
21280774778.2
21280774779. 3
21280774780. 4

Question Number : 35 Question Id : 21280718695 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Sifer! - 11 9 =19ie sifeet -1 FerE ¢

oifert - I oiferet - 11
(A) RCT ITT© FI 77 () R
(B) Rica N1 S (m ==
Q) famzE () &
(D) s & feazom @bt o smasa . (v) e

fawfafe ﬁ@‘ﬂ%}’ﬂ A W TG Az Thea ¢

(1) (A)-1V), (B)-(1), (O)-(TD), (D)-()
(2) (A)(I)()(I)()()()(HI)
(3)  (A)-1V), (B)-(1D), (O)-L), (D)-(0)
(4)  (A)-D), (B)-(ID), (O)-(II), (D)-(IV)
Options :

21280774777. 1
21280774778. 2
21280774779. 3
21280774780. 4

Question Number : 36 Question Id : 21280718696 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



o (RICH! *% Hrares S Brite 99eie 20 7

(A) «areE

(B) TTE

(©) ==

(D) (e

(B) @
fsfeTee RrerTes «@ wa beas! Ak el ¢
(1) (B)

(2) (A)

3 (©

(4) (D) == (E)
Options :

21280774781. 1
21280774782.2
21280774783. 3
21280774784. 4

Question Number : 36 Question Id : 21280718696 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

o (RICH! *% Hrares S Brite 99eie 20 7

(A) «areE
(B) TT
(©) ==
(D) e
() e
fsfeTee RrerTes «@ wa beas! Ak el ¢

(1) (B)

(2) (A

@) (©

(4) (D)9 (E)
Options :

21280774781. 1
21280774782.2
21280774783. 3
21280774784. 4

Question Number : 37 Question Id : 21280718697 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Sifer! - 119 =9ie sifert -1 el ¢

Sifert - 1 oifert - 11
(A) oAl () TR @ ST
(B) «To(T 1)  FANE (AT SR
Q) & (1) RS =R
(D) @3 (IV) FRCAGS SR
fsferiie RerTzs «[ ws Teais! Afz Tferel ¢
(1) (A)-(IID), (B)-(IV), (O)-(11), (D)-(I)
(2) (A1), (B)-(1V), (O)-(D), (D)-(II)
(3)  (A)-(1), (B)}-(IT), (O)-(1D), (D)-(IV)
(4)  (A)-(D), (B)-(D), (O-(I), (D)-(IV)
Options :

21280774785. 1
21280774786. 2
21280774787. 3
21280774788. 4

Question Number : 37 Question Id : 21280718697 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Sifer! - 119 =9ie sifert -1 el ¢

Sifert - 1 oifert - 11
(A) oAl () TR @ ST
(B) «To(T 1)  FANE (AT SR
Q) & (1) RS =R
(D) @3 (IV) FRCAGS SR
fsferiie RerTzs «[ ws Teais! Afz Tferel ¢
(1) (A)-(IID), (B)-(IV), (O)-(11), (D)-(I)
(2) (A1), (B)-(1V), (O)-(D), (D)-(II)
(3)  (A)-(1), (B)}-(IT), (O)-(1D), (D)-(IV)
(4)  (A)-(D), (B)-(D), (O-(I), (D)-(IV)
Options :

21280774785. 1
21280774786. 2
21280774787. 3
21280774788. 4

Question Number : 38 Question Id : 21280718698 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



(A) =G
(B) APl
(C) =«
(D) &=5d
(B) dffwm

F

et Resrmes J1 wa Tearn! e Tieed ¢
1) (E)

(2) (©)

@) (D)

(4) (B) I (A)
Options :

21280774789. 1
21280774790. 2
21280774791. 3
21280774792. 4

Question Number : 38 Question Id : 21280718698 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

@’ *R AL *= F e
(A) =B
(B) A
(C) =g
(D) &=5d
(B) dffwm

F

et Resrmes J1 wa Tearn! e Tieed ¢
1) (E)

(2) (©)

@) (D)

(4) (B) I (A)
Options :

21280774789. 1
21280774790. 2
21280774791. 3
21280774792. 4

Question Number : 39 Question Id : 21280718699 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



(A) @M

(B) A==

(C) Tifes

(D) FSI

(E) ©9

fawfeiie Reaes «at wa Tears! A Tfe
1) (A)

(2) (D)

(3)  (E)

(4) (C) == (B)
Options :

21280774793. 1
21280774794. 2
21280774795. 3
21280774796. 4

Question Number : 39 Question Id : 21280718699 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
(A) &=
(B) A==
(©) faf=
(D) FSI
(E) ©9
fawfeiie Reaes «at wa Tears! A Tfe
1) (A

(2) (D)

(3)  (E)

(4) (C) == (B)
Options :

21280774793. 1
21280774794. 2
21280774795. 3
21280774796. 4

Question Number : 40 Question Id : 21280718700 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



[T == qife Ciereal ¢ srer
(A) Zo
(B) 3
(C) v
(D) Treal

(E) #Rfre

fawfeiie Reaes «at wa Tears! A Tfe
(1) (B)

(2) (A

@) (D)

(4) (©) == (E)
Options :

21280774797. 1
21280774798. 2
21280774799. 3
21280774800. 4

Question Number : 40 Question Id : 21280718700 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
[T == qife Ciereal ¢ srer
(A) Zo

(B) 3

(C) v

(D) Treal

(E) #Rfre

fawfeiie Reaes «at wa Tears! A Tfe
(1) (B)

(2) (A

@) (D)

(4) (©) == (E)
Options :

21280774797. 1
21280774798. 2
21280774799. 3
21280774800. 4

Question Number : 41 Question Id : 21280718701 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Sifer! - 11 9 =19ie sifeet -1 FeE ¢

Siferst - 1 Sifert - 11
(A) St O SWmE
(B) SIRM 1) #irefE
(C) ¢©fbe (1) &=l
(D) <& (IV) SEfo®

e

fsferiie RsTes «i4l wa Teais! Az Tfea ¢

(1) (A, (B)-(I), (©)-(1), (D)-(IV)
(2) (A1), (B)-1I), (©)-(1V), (D)-(0)
(3)  (A)-D, (B)-(IV), (O)-m), (D)-(I)
(4)  (A)-(1), (B)-(1D), (O-(I1D), (D)-(IV)
Options :

21280774801. 1
21280774802. 2
21280774803. 3
21280774804. 4

Question Number : 41 Question Id : 21280718701 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Sifer! - 11 9 =19ie sifeet -1 FeE ¢

Siferst - 1 Sifert - 11
(A) St O SWmE
(B) SIRM 1) #irefE
(C) ¢©fbe (1) &=l
(D) <& (IV) SEfo®

e

fsferiie RsTes «i4l wa Teais! Az Tfea ¢

(1) (A, (B)-(I), (©)-(1), (D)-(IV)
(2) (A1), (B)-1I), (©)-(1V), (D)-(0)
(3)  (A)-D, (B)-(IV), (O)-m), (D)-(I)
(4)  (A)-D), (B)-(ID), (O)-(II), (D)-(IV)
Options :

21280774801. 1
21280774802. 2
21280774803. 3
21280774804. 4

Question Number : 42 Question Id : 21280718702 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



T b g e’ - AFCE! (I CHTIR 2

(A) =TT

B) SRIALE

) fomiTs

D) eI

E) SREIEIES

fawfeiie Reaes «at wa Tears! A Tfe
(1) (D)

(
(
(
(

(2) (©)

3) (B)

(4) (A) == (E)
Options :

21280774805. 1
21280774806. 2
21280774807. 3
21280774808. 4

Question Number : 42 Question Id : 21280718702 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
T & orge e’ - AHO! (@ (=T 2
(A) TR

(B) SOREKE

(C) FomiS

(D) RIS

(E) SeEelies

et Resrmes J1 wa Tearn! e Tieed ¢
(1) (D)

(2) (©

(3) (B)

(4) (A) U= (E)
Options :

21280774805. 1
21280774806. 2
21280774807. 3
21280774808. 4

Question Number : 43 Question Id : 21280718703 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



“sifeus 31, (org Tate R AEa - AT @ CHTE 2

A) @l a7
B) v AR
Q) bl AR

D) ZHEYE AR

E) SR IR

e Resrnzs “[1 ws Tean! ifz Thet ¢
(1) (B)

(2 (©

(3) (D) %= (E)

(4) (4)

Options :

21280774809. 1

21280774810. 2

21280774811. 3
21280774812. 4

(
(
(
(
(

Question Number : 43 Question Id : 21280718703 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

“sifxx FfA1, (o0 Tare IR AARQN” - IRTEG! @ (HT 2
A) @l a7

B) R

) e A

D) TREF AR

E) SR IR

fsieTie RerTes «[ ws Tears! iz Blenedl ¢
(1) (B)

2) (O

(3) (D) == (E)

4 (A

Options :

212807748009. 1

21280774810. 2

21280774811. 3
21280774812. 4

@

(
(
(
(
(

Question Number : 44 Question Id : 21280718704 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



“2fea” - %o O 7
A) iR 3B STl
B

=g A LT
) CFIR AGR e ATl
) IfE i wedre
E) %l STl
fawfeiie Reaes «at wa Tears! A Tfe
(1) (B)

n“n—i

=)

(
(
(
(
(

(2) (A

@) (D)

(4) (©) == (E)
Options :

21280774813. 1
21280774814.2
21280774815.3
21280774816. 4

Question Number : 44 Question Id : 21280718704 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Y]’ - %R o 5 2

A) iR 3B STl

B

21 o4 STl
) CFIR AGR e ATl
) IfE i wedre
E) %l STl
fawfeiie Reaes «at wa Tears! A Tfe
(1) (B)

n“n—i

=)

(
(
(
(
(

(2) (A

@) (D)

(4) (©) == (E)
Options :

21280774813. 1
21280774814.2
21280774815. 3
21280774816. 4

Question Number : 45 Question Id : 21280718705 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Sifer! - 11 9 =19ie sifeet -1 FeE ¢

oifert - I oifere - I1
(A) cwEERE O =%
(B) (== () 5=
() fifke () 71" 32
(D) f27 (IV)  CICHCR 5=l
fsferiae Rz «@ wa Teas! Al Tlereal ¢
(1) (A)-ID), (B)-(IV), (O)-(), (D)-(IN)
(2)  (A)-(IV), (B)-(I), (O)-I), (D)-(I)
(3)  (A)-(D), (B)-(ID), (O)-(TD), (D )(IV)
(4) (A)-(I), (B)-(IV), (O)-D), (D)-(I)
Options :

21280774817. 1
21280774818.2
21280774819. 3
21280774820. 4

Question Number : 45 Question Id : 21280718705 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Sifer! - 11 9 =19ie sifeet -1 FeE ¢

oifert - I oifere - I1
(A) cwEERE O =%
(B) (== () 5=
() fifke () 71" 32
(D) f27 (IV)  CICHCR 5=l
fsferiae Rz «@ wa Teas! Al Tlereal ¢
(1) (A)-ID), (B)-(IV), (O)-(), (D)-(IN)
(2)  (A)-(IV), (B)-(I), (O)-I), (D)-(I)
(3)  (A)-(D), (B)-(ID), (O)-(TD), (D )(IV)
(4) (A)-(I), (B)-(IV), (O)-D), (D)-(I)
Options :

21280774817. 1
21280774818. 2
21280774819. 3
21280774820. 4

Question Number : 46 Question Id : 21280718706 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



oS FF - A% A% RO G IS 2

(A) 2SI <4

B) (5T ¥SRA

Q) wifs 7%

D) WIS €59 O 7ol

E) T (iR

fawfeiie Reaes «at wa Tears! A Tfe
1) (¥

(
(
(
(

(2) (D)

3) (B)

(4) (©) == (A)
Options :

21280774821. 1
21280774822.2
21280774823. 3
21280774824. 4

Question Number : 46 Question Id : 21280718706 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

oS FF - A% A% RO G IS 2

(A) 2SI <4
B) (5T ¥SRA
Q) wifs 7%

D) WIS €59 O 7ol
E) T (iR
fawfeiie Reaes «at wa Tears! A Tfe
1) (¥

(
(
(
(

(2) (D)

3) (B)

(4) (©) == (A)
Options :

21280774821. 1
21280774822.2
21280774823. 3
21280774824. 4

Question Number : 47 Question Id : 21280718707 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



‘Sl 3B B — ASAFOR 24F© WY (FHG! 2

(A) == for
(B) g TR @GR
(C) =i o[t
(D) g C1
(

E) I IR GAZ 91
et Resrmes J1 wa Tearn! e Tieed ¢
1) (¥

(2) (B)

@) (©

(4) (D) W= (A)
Options :

21280774825. 1
21280774826. 2
21280774827.3
21280774828. 4

Question Number : 47 Question Id : 21280718707 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

‘Sl 3B B — ASAFOR 24F© WY (FHG! 2

(A) == for
(B) g TR @GR
(C) =i o[t
(D) g C1
(

E) I IR GAZ 91
et Resrmes J1 wa Tearn! e Tieed ¢
1) (¥

(2) (B)

@) (©

(4) (D) W= (A)
Options :

21280774825. 1
21280774826. 2
21280774827. 3
21280774828. 4

Question Number : 48 Question Id : 21280718708 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



ST *AM0 (Fi TR 2[5 *77 -
(A) wifEe

o

(B) T©iZ

(C) =l

(D) =St

(E) fe

fsfeTee RrerTes «@ wa beas! Ak el ¢

1 ©

(2) (B

(3) (A

(4) (D)9 (E)
Options :

21280774829. 1
21280774830. 2
21280774831. 3
21280774832. 4

Question Number : 48 Question Id : 21280718708 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
I *=10 (PN SIS w11 o] *+7 -
(A) =g

o

(B) B

(C) ol

(D) =cel

(E) T

fsfeTee RrerTes «@ wa beas! Ak el ¢
(1) (O

(2) (B)

(3) (A)

(4) (D) =i (E)
Options :

21280774829. 1
21280774830. 2
21280774831. 3
21280774832. 4

Question Number : 49 Question Id : 21280718709 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Sifer! - 11 9 =19ie sifeet -1 FeE ¢

oifert - I oifere - I1
(A) TS (1) O >
(B) ©& ) oA =
(C) TR 1) & =%
(D) (g9 (IV) 15T *<

fawfafe Rz 71 wa Tean! Alfk Tleed ¢

(1) (A1), (B)-(I), (©)-(1), (D)-(IV)
(2) (A1), (B)-(I), (O-(1V), (D)-(ID)
(3) (A1, (B )( ), (C)-(11D), (D)-(1V)
(4)  (A)-(11), (B)-(1), (©)-1), (D)-IV)
Options :

21280774833. 1
21280774834.2
21280774835. 3
21280774836. 4

Question Number : 49 Question Id : 21280718709 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Sifer! - 11 9 =19ie sifeet -1 FeE ¢

oifert - I oifere - I1
(A) TS (1) O >
(B) ©& ) oA =
(C) TR 1) & =%
(D) (g9 (IV) 15T *<

fawfafe Rz 71 wa Tean! Alfk Tleed ¢

(1) (A1), (B)-(I), (©)-(1), (D)-(IV)
(2) (A1), (B)-(I), (O-(1V), (D)-(ID)
(3) (A1, (B )( ), (C)-(11D), (D)-(1V)
(4) (A)-D), (B)-(I), (O-(1I), (D)-(IV)
Options :

21280774833. 1
21280774834.2
21280774835. 3
21280774836. 4

Question Number : 50 Question Id : 21280718710 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



BRRR 7N TR (it o1 IRz ¢

(A) T T
(B) ©°wzm 3|
(C) SIgel b TeTal
(D) (MAPIE 1Al
(E) O™ S wifers
Fwfefe fRses o[ wa T Al Tleed ¢
1) (¥
(2) (D)
(3) (O == (A)
(4) (B)
Options :

21280774837. 1
21280774838.2
21280774839. 3
21280774840. 4

Question Number : 50 Question Id : 21280718710 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

BRRR 7N TR (it o1 IRz ¢
(A) T I
B) T’z Al

(

(C) Ios 5% TR
(D)  (FEIT 9]

(E) (3% S9e Wifere

RS REErTEs 2/ ug Tean] AR e ¢

(1) (B)
(2) (D)
(3) (O == (A)
(4) (B)
Options :

21280774837. 1
21280774838.2
21280774839. 3
21280774840. 4


Free Hand


